
CAD DWG.:

DRAWN:

DATE July 2024

DESIGNED:

CHECKED:

SCALES:

DWG NO.

SHEET TITLE: RIBRAFT 220mm Pod
HOTEDGE DETAILS
TIMBER FRAME
CONSTRCUTION

140mm max 140mm max

140mm max

50mm H GRADE EPS OR 75mm XPS

220mm FIRTH RIBRAFT POLYPOD
BRICK VENEER HOTEDGE
FIRTH RAFTMIX 20 OR 25MPa

220mm FIRTH RIBRAFT POLYPOD
BRICK VENEER HOTEDGE & HOTEDGE BASE
FIRTH RAFTMIX 20 OR 25MPa

220mm FIRTH RIBRAFT POLYPOD
BRICK VENEER HOTEDGE & UNDERSLAB INSULATION
FIRTH RAFTMIX 20 OR 25MPa

9 10
11

140mm max

220mm FIRTH RIBRAFT POLYPOD
BRICK VENEER
FIRTH RAFTMIX 20 OR 25MPa

12

BEAM SPACERS NEED TO BE WJ 100 & WJ 101
RIB REINFORCING NEEDS TO BE CRANKED
TO ENSURE MINIMUM COVER IS ACHIEVED IN BEAM

50mm H GRADE EPS OR 75mm XPS

220mm FIRTH RIBRAFT POLYPOD
140mm WALL FRAME HOTEDGE EXTRA
FIRTH RAFTMIX 20 OR 25MPa

220mm FIRTH RIBRAFT POLYPOD
140mm WALL FRAME HOTEDGE EXTRA & HOTEDGE BASE
FIRTH RAFTMIX 20 OR 25MPa

220mm FIRTH RIBRAFT POLYPOD
140mm WALL FRAME HOTEDGE EXTRA & UNDERSLAB INSULATION
FIRTH RAFTMIX 20 OR 25MPa

5 6 7 220mm FIRTH RIBRAFT POLYPOD
90mm WALL FRAME
FIRTH RAFTMIX 20 OR 25MPa

8

BEAM SPACERS NEED TO BE WJ 100 & WJ 101
RIB REINFORCING NEEDS TO BE CRANKED
TO ENSURE MINIMUM COVER IS ACHIEVED IN BEAM

325mm or SED 325mm or SED 325mm or SED 300mm or SED

Firth RibRaft
HotEdge Extra

DPM below underslab
insulation and wrapped

100mm up boxing

DPM below underslab
insulation and wrapped

100mm up boxing

25 25

25

Firth RibRaft
HotEdge Extra

Firth RibRaft
HotEdge Extra

Firth RibRaft
HotEdge Base 25mm

Firth RibRaft
HotEdge BV

Firth RibRaft
HotEdge BV

Firth RibRaft
HotEdge BV

Firth RibRaft
HotEdge Base 25mm

Concrete reduced by 25mm

28
0m

in

Concrete reduced by 25mm

28
0m

in

50mm H GRADE EPS OR 75mm XPS

220mm FIRTH RIBRAFT POLYPOD
90mm WALL FRAME HOTEDGE EXTRA
FIRTH RAFTMIX 20 OR 25MPa

220mm FIRTH RIBRAFT POLYPOD
90mm WALL FRAME HOTEDGE EXTRA & HOTEDGE BASE
FIRTH RAFTMIX 20 OR 25MPa

220mm FIRTH RIBRAFT POLYPOD
90mm WALL FRAME HOTEDGE EXTRA & UNDERSLAB INSULATION
FIRTH RAFTMIX 20 OR 25MPa

1 2 3 220mm FIRTH RIBRAFT POLYPOD
90mm WALL FRAME
FIRTH RAFTMIX 20 OR 25MPa

4

BEAM SPACERS NEED TO BE WJ 100 & WJ 101
RIB REINFORCING NEEDS TO BE CRANKED
TO ENSURE MINIMUM COVER IS ACHIEVED IN BEAM

Firth RibRaft
HotEdge Extra

DPM below underslab
insulation and wrapped

100mm up boxing

Firth RibRaft
HotEdge Extra

Firth RibRaft
HotEdge Extra

Firth RibRaft
HotEdge Base 25mm

Concrete reduced by 25mm

BOTTOM PLATE ANCHORAGE BRANZ tested - report no.ST18050-01-01
90mm Frame- M10x155 Ecko Screw Bolt- (orange head) with or
without Ecko Frame Packer
Anchors at maximum 900mm centres for 15Kn Charactersitic Uplift and
NZS3604, proprietary post fixed anchors

43mm 43mm
43mm

5mm overhang
optional

BOTTOM PLATE ANCHORAGE
90mm Frame- wall plate fixing as per NZS3604-2011

BOTTOM PLATE ANCHORAGE
140mm Frame- wall plate fixing as per NZS3604-2011

BOTTOM PLATE ANCHORAGE
140mm Frame- wall plate fixing as per NZS3604-2011

BOTTOM PLATE ANCHORAGE
140mm Frame- wall plate fixing as per NZS3604-2011 BOTTOM PLATE ANCHORAGE

140mm Frame- wall plate fixing as per NZS3604-2011

BOTTOM PLATE ANCHORAGE BRANZ tested - report no.ST18050-01-01
90mm Frame- M10x155 Ecko Screw Bolt- (orange head) with or
without Ecko Frame Packer
Anchors at maximum 900mm centres for 15Kn Charactersitic Uplift and
NZS3604, proprietary post fixed anchors

BOTTOM PLATE ANCHORAGE BRANZ tested - report no.ST18050-01-01
90mm Frame- M10x155 Ecko Screw Bolt- (orange head) with or
without Ecko Frame Packer
Anchors at maximum 900mm centres for 15Kn Charactersitic Uplift and
NZS3604, proprietary post fixed anchors

BOTTOM PLATE ANCHORAGE BRANZ tested - report no.ST18050-01-01
90mm Frame- M10x155 Ecko Screw Bolt- (orange head) with or
without Ecko Frame Packer
Anchors at maximum 900mm centres for 15Kn Charactersitic Uplift and
NZS3604, proprietary post fixed anchors

5mm overhang
optional

AutoCAD SHX Text
RR Pod

AutoCAD SHX Text
RR Pod

AutoCAD SHX Text
RR Pod

AutoCAD SHX Text
RR Pod


	Sheets and Views
	Model


